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NEW QUESTION 1
An engineer is configuring local web authentication on a WLAN. The engineer chooses the Authentication radio button under the Layer 3 Security options for Web
Policy. Which device presents the web authentication for the WLAN?

A. ISE server

B. local WLC

C. RADIUS server
D. anchor WLC

Answer: B

NEW QUESTION 2
Which statement about agent-based versus agentless configuration management tools is true?

A. Agentless tools require no messaging systems between master and slaves.

B. Agentless tools use proxy nodes to interface with slave nodes.

C. Agent-based tools do not require a high-level language interpreter such as Python or Ruby on slave nodes.
D. Agent-based tools do not require installation of additional software packages on the slave nodes.

Answer: D

NEW QUESTION 3
If a VRRP master router fails, which router is selected as the new master router?

A. router with the highest priority
B. router with the highest loopback address
C. router with the lowest loopback address
D. router with the lowest priority

Answer: A

NEW QUESTION 4
Which protocol does REST API rely on to secure the communication channel?

A.TCP

B. HTTPS
C. SSH
D. HTTP

Answer: B

NEW QUESTION 5
Which HHTP status code is the correct response for a request with an incorrect password applied to a REST API session?

A. HTTP Status Code 200
B. HTTP Status Code 302
C. HTTP Status Code 401
D. HTTP Status Code: 504

Answer: C

NEW QUESTION 6

Which statement about Cisco Express Forwarding is true?

A. It uses a fast cache that is maintained in a router data plane.

B. maintains two tables in the data plane the FIB and adjacency table.

C. It makes forwarding decisions by a process that is scheduled through the 10S scheduler.

D. The CPU of a router becomes directly involved with packet-switching decisions.

Answer: B

NEW QUESTION 7

Which statement explains why Type 1 hypervisor is considered more efficient than Type 2 hypervisor?

A. Type 1 hypervisor runs directly on the physical hardware of the host machine without relying on the underlying OS.
B. Type 1 hypervisor enables other operating systems to run on it.

C. Type 1 hypervisor relics on the existing OS of the host machine to access CPU, memory, storage, andnetwork resources.
D. Type 1 hypervisor is the only type of hypervisor that supports hardware acceleration techniques.

Answer: A

NEW QUESTION 8
Which OSPF networks types are compatible and allow communication through the two peering devices?
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A. broadcast to nonbroadcast

B. point-to-multipoint to nonbroadcast
C. broadcast to point-to-point

D. point-to-multipoint to broadcast

Answer: B

NEW QUESTION 9
Which access controls list allows only TCP traffic with a destination port range of 22-433, excluding port 807

A. Deny tcp any any eq 80 Permit tcp any any gt 21 it 444
B. Permit tcp any any ne 80

C. Permit tcp any any range 22 443 Deny tcp any any eq 80
D. Deny tcp any any ne 80Permit tcp any any range 22 443

Answer: A

NEW QUESTION 10
What is a benefit of deploying an on-premises infrastructure versus a cloud infrastructure deployment?

A. faster deployment times because additional infrastructure does not need to be purchased
B. lower latency between systems that are physically located near each other

C. less power and cooling resources needed to run infrastructure on-premises

D. ability to quickly increase compute power without the need to install additional hardware

Answer: B

NEW QUESTION 10
Which statement describes the IP and MAC allocation requirements for virtual machines on types 1 hypervisors?

A. Each virtual machine requires a unique IP and MAC addresses to be able to reach to other nodes.

B. Each virtual machine requires a unique IP address but shares the MAC address with the physical server

C. Each virtual machines requires a unique IP address but shares the MAC address with the address of the physical server.
D. Each virtual machine requires a unique MAC address but shares the IP address with the physical server.

Answer: A

NEW QUESTION 15
Which statement about an RSPAN session configuration is true?

A. A fitter mutt be configured for RSPAN Regions

B. Only one session can be configured at a time

C. A special VLAN type must be used as the RSPAN destination.
D. Only incoming traffic can be monitored

Answer: C

NEW QUESTION 16
Which LISP infrastructure device provides connectivity between non-sites and LISP sites by receiving non-LISP traffic with a LISP site destination?

A. PETR

B. PITR

C. map resolver
D. map server

Answer: B

NEW QUESTION 20
Which action is the vSmart controller responsible for in an SD-WAN deployment?

A. onboard vEdge nodes into the SD-WAN fabric

B. distribute security information for tunnel establishment between vEdge routers

C. manage, maintain, and gather configuration and status for nodes within the SD-WAN fabric
D. gather telemetry data from vEdge routers

Answer: B

NEW QUESTION 23

What is the difference between the enable password and the enable secret password when service password encryption is enable on an IOS device?
A. The enable password is encrypted with a stronger encryption method.

B. There is no difference and both passwords are encrypted identically.

C. The enable password cannot be decrypted.
D. The enable secret password is protected via stronger cryptography mechanisms.
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Answer: D

NEW QUESTION 28
Which description of an SD-Access wireless network infrastructure deployment is true?

A. The access point is part of the fabric underlay.
B. The WLC is part of the fabric underaly.

C. The access point is part the fabirc overlay.

D. The wireless client is part of the fabirc overlay.

Answer: C

NEW QUESTION 33
Refer to the exhibit.

Fxlended 1P Aacoess sl FGRESS
10 permit ip 10.1.100.0 0.0.0.25510.1.2.0 0.0.0.255
20 deny ip any any

An engineer must modify the access control list EGRESS to allow all IP traffic from subnet 10.1.10.0/24 to 10.1.2.0/24. The access control list is applied in the
outbound direction on router interface GigabitEthemet 0/1. Which configuration commands can the engineer use to allow this traffic without disrupting existing
traffic flows?

A)
config t
ip access-list extended EGRESS
permitip 10.1.10.0 255.255.255.0 10.1.2.0 2535.255.255.0
B)
config t
ip access-list extended EGRESS
S permitip 10.1.10.0 0.0.0.2556 10.1.2.0 0.0.0.2566
C)
configt
ip access-list extended EGRESS2
permit ip 10.1.10.0 0.0.0.255 10.1.2.0 0.0.0.23535
permit ip 10.1.100.0 0.0.0.258 10.1.2.0 0.0.0.2358
deny ip any any
interface g0/1
no ip access-group EGRESS out
ip access-group EGRESS2 out
D)
config t
ip access-list extended EGRESS
permitip 10.1.10.0 0.0.0.255 10.1.2.0 0.0.0.255
A. Option A
B. Option B
C. Option C
D. Option D
Answer: B

NEW QUESTION 34
Refer to the exhibit.

Mame is Bob Johnson
Ageis TS5
Is alive

Favorite Toods are
= Cereal

= Mustard

= Dnions

What is the JSON syntax that is formed the data?

A. Name: Bob, Johson, Age: 75, Alive: true, Favourite Food

B. [Cereal, "Mustard", "Onions}}

C. Name", "Bob" Johson", "Age", 75, "Alive", true, "favourite Foods", ["Cereal, "Mustard", Onions"}}

D. Name', 'Bob Johson,' 'Age’, 75, 'Alive’, true, 'favourite Foods' 'Cereal’, 'Mustard', 'Onions'}

E. Name". "Bob Johson", "Age": Seventyfive, "Alive" true, "favourite Foods" ,[Cereal” "Mustard" "Onions"}}

Answer: C
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NEW QUESTION 38
In which part of the HTTP message is the content type specified?

A. HTTP method
B. URI

C. header

D. body

Answer: D

NEW QUESTION 43
A client with IP address 209 16b 201 2b must access a web server on port 80 at 209 16b.200.22b. To allow this traffic. an engineer must add a statement to an
access control list that is applied in the inbound direction on the port connecting to the web server Which statement allows this traffic?

A. permit tcp host 209 165 200 225 eq 80 host 209.165.201.25
B. permit tcp host 209 165.201 25 host 209.165.200.225 eq 80
C. permit tcp host 209.165.200 225 It 80 host 209.165.201.25

D. permit tcp host 209.165.200.225 host 209.165.201.25 eq 80

Answer: B

NEW QUESTION 44
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